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Read the instructions and do as directed. 

I. Solve the crossword using the given clue.  

 
Across 

4. Number of equal parts shaded in a 

fraction which is written above the 

fraction bar.  

5. ______________ fraction is a fraction 

in which the numerator is greater 

than the denominator. 

6. A fraction with 1 as a numerator is 

called a/an ______________.  

      Down 

1. Fractions with the same denominators 

are called __________ 

2. The total number of equal parts in a 

fraction. 

3. A ____________ is a part of the 

whole. 

 

II. Circle the correct option.  

i) Which of the following sets shows a set of Like Fractions? 

a)   
3

5
,   

3

4
 ,   

2

7
  b)   

1

5
,   

1

4
 ,   

1

7
 c)   

3

5
,   

2

5
 ,   

4

5
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ii) Three fifth can be written as ___________ 

a)   
3
5
 b)   

1

5
 c)   

2

5
 

III. Write the fraction for the shaded parts for the following figures. 

a) b) c) 

IV. Compare the following fractions using the >, < or = symbols. 

a)    
2

5
        

2

5
 b)    

4

9  
      

5

9
 c)    

3

7
        

1

7
 

V. Shade and colour the fraction of the collection.  

a) 
2

5
  of 10 = ____________________ 

_______________________________ 

 

 

 

 

 

b) 
3

8
  of 16  = ____________________ 

________________________________ 

 

VI. Colour the parts in the given sets of figures to show the Equivalent Fractions 

written below the figures. 

        

a)     
2

6
     =    

4

12
   

        

b)         
1

2
     =      

3

6
   

VII. Match the following. 

1)   
13

6
 and 

11

7
  are  a)   

22
5

 

2)   
7

9
  - 

4

9
  =  c)   3

4

5
 

3)  4
2

5
 d)    

3

9
 

4)    
19

5
    e)   Improper Fraction 

 

   


